Mm © .W N 2 =
852 5 f8WwW T
SIE " s & || T8 &
m.l em ©’ m 2
puzis §% % 2
Uzgs | 8E ($: ) 81 |2 s
Z== 88 o4 | B o= i3 > |35
So=83 &8 |8 £z s |8 %
SCnEY 52 855y |¢|F
SW==8 g5 | 285§ a2
®S Il §S = g|E 3 Y |3
& % 8z 52 £35¢ 58}
9 | &g X |8 S| =
s€ £8 SIS
28 |82 BN
| S| £ ElE |
] 2|0 m
anllE y
2GS 96 [V /]
: : : 9% 96 [66Gl 2G5 96 [96Gl
wmmm Ue ot mwmﬁ C¥ 96 |S¥ 96 [66 ¥l 1S96 1S 96 |96 ¥l
506 e | ¥0'/6 2 [0°/6 2
TS Yol | SO L6 18°¢] 60 L6 18°¢]
608 el 80 L6 8¢ L 1 /6 8¢
76796 Eel | 8076 IR Al cL/6 CLCl
N i
Sl i
- - Ol
9996 |66701L €896 Zv 0l N ol
1896 ¢v ol | 5696 /56 i 2076 /56
| 9696 /GG 006 [S6
096 (9777 | : .
19°96 698 AT o/ SR /196 80/ ~ G196 [S6°9
56706 0/ ol |\ G696 G99 ol 8696 G99
: . : a \ JN/6°96 1SC 96 |S9°9 \ 00/6 [l 96 [G9°9
PEEE e e G296 |82 96 |05 9 ] 99°96 |¥¢ 96 |0G9
0¢' 96 [60°9 17796 |06
8796 [9¢°G
DN DN
O <ttt b
ol | Sli |
,, O O
| G896 [6%¥ 96 |0G ¢ =9 il 98°96 G596 0S¢ =
5 m /8796 [6%°96 [/¥C N w 8696 [SS96 [L¥¢C Sh:
n SR i o2
o @ el D S N D5
0796 |297] - o s< M O 5 3 g
S sg 7 5 || 5
- <~ 5 O | e
Mm 0 N MD i MD
N@@@ WN@@ OOO %m @@@@ mm}@@ OOO Obmu Ko h@ @@ mm @@ OOQ Kw ! ‘TQ N@ ﬁ@ @mw OOO Kw
SRS == ™
2" s
E /696 1996 [/v C— 9696 /996 |7 C—
G896 [19°96 [0S C— ¥8°96 [/9796 [0GC—
cC96 |[0G¢C— EN B3
Gy 96 [£6°¢C— - S
[\ . - N
7296 [5G 96 |0G 9— £296 996 |06 9- mmmm 6L 96 mmku mmwm £8 96 mmmu
9696 G 9— G696 G 9— , : - : : -
: : o : : o 6896 (0896 |G9°9 ; 8896 [¥8°96 S99
9696 |¥S 96 |G9°9 S696 [£996 [G99 R So ST Soo
v6 96 S99— C6 96 G9'9—
9696 [GO/— o
C6 96 /96— O
S6 96 /96— = a » , »
v6 96 /96— 1696 [¢80L— /896 [96— 98°96 96—
9696 (96— 66 96 Gl L~ 6896 /96— 88 96 ) L96—
00°/6 SL - 10°/6 S/ LL— | a L0 /L6 9L 0L~ a 90 L6 |[¥8 6~
20°/6 G/l L— 107/ 6 CQ L — B¢ $6 96 Sl L= ¢6'96 S L=
20°/6 9L — 3696 CQL— < 5696 SL 1= 76 96 SL 1=
66 96 8L — 9696 clLzl— | 56 96 N 76 96 8 1=
86396 [8636 [SlCl— c0°/6 [¢0°/6 [¢CCl— k ¢6 96 e8 L= 16 96 e8 L=
| 66 96 [6C Cl— | 90°/6 [¢LCL— | 0696 | clcl— 6896 | clcl—
/ 90°/6 G671 — h 60/6 1967 — LlLse L6 (v L+ cl/6 |cLLe Ly l—
80/6 [SLCL— i 60,6 |22CL— | CL/6 v el— VI LY SL—
= = S e =
@] @) ®} O O O O O
(@] = (@) = (@) = (@) =
|8 > A > ;S > |l 8 >
5 5 | & o & | o 5 & | o o & | &
© O 0 5 © O L 5 © O L 5 © O L 5
N s = N = = N = = N S =
a2 o = w 2 o = w al o = w a o = w
- C - -
S| 8| 3 2| 2| 3 2] 2| 3 8| 2| 3
N ) O N D) O N © O N © ©
s — O e — O o — O o — O
W : : G996 [1¥ Gl
| 7996 €7 Gl mwﬁ 8996 |[¥C 'S
: : : M cG'96 [€G°96 |[vC vl
m@»@@ §9 96 m%@i 9996 19996 |I¥ ¥l 0C'/b N ,,, C99p 19/ %1
91/6 89Tl : . | : , |
‘ : , 91 /6 9971 12 /6 £6 ¢l v g .
81 /6 8C Tl : : g g 0996 (0996 [8/ ¢l
: : . 81 /6 9C 7] vZ /6 C6Cl /176 2671
12 /6 [T i : : : )
12 /6 62 c1 O ¢ L6 9 &1 vC'L6 58Cl 6L /6 29¢cl
9 ‘ N NAVAS 8¢l LB G821 /6 97|
61 /6 6C Cl AR ST V .
S7V 96 |8 CL 7. /6 3G 71
el 0C /6 Sl
all
. . N 2/ 96 |¥S6
0L/6 e wﬁm RS 0 /996 856
: . 60 L6 16 . ;
80°/6 AN / 7176 598 9 96 9V 6
\ : g 11°/6 /T8
ol | | L6 898 : .
‘ . o 0L'96 [¢¥'9 60°/6 > [C°8
__|01796 [r7'9 S 5076 510 SR 2196 [G70 e 28
8026 | |0C9 1/6 G196 |8L9 < 16096 1919 : :
0L'/Z6 |S1'96 029 0 S0 S 7176 S/ C 8096 [//°S
OlL'/6 80°9 5696 19196 1209 —Jv1L/6 9196 |G/ °G 60'/6 Yy
8696 [81°96 [SO9 v 1/6 £9C [1'/6 10796 [#¥'G
¢0'/6 |81°96 [09¢G WA > ¢t §
. /096 [0¢°C
S 6696 [/0°96 [6¢S
N 9196 [¢6V
: : 6/96 |£0°¢C o
B 8/°96 [60¢C o . , . _ |
I | =5 (696 [c8 96 [60C | 08 3 - o .
R ’ ’ : X ! Rl
Ly T e o8 1a0 2 ke COZ6 |¢896 [90¢ S | o =5
== b N5 9/°96 |¢8'] S Sh:
O R a + O 7 o2
AR <3 78796 [60 | &b 755 5T o S
, : : S 00°/6 |98796 [00°0 = V . ‘ & &5
00°/6 [98°96 [000 =- 30 S G896 98796 |[000 S o
ERR . E 7896 896 |000 =
| 88796 [¢9°0— >
) : : 696 (2696 6% ¢—
mmmm ﬁmmm mwmu 08796 [¢696 (27—
, » .\ ¢/°96 l0/6 |V 9— L9 96 |00L6 |£0 9~ /996 |66°96 |GGG
wm‘wm L0 L6 wwm\ 73796 9% 9— 696 |  190°9-— 6/ 96 30 G-
o 0f 7078 T6c o= ¥8°96 [¢0/6 |8G9— 6,96 [00°/6 8179~ 67796 16696 1o/ c=
RIS T 8°96 3G 9— L1796 81 9— [/ 96 0/°G—
107/6 [9.79—
¢0°/6 [81/—
CO/6 |5 8— : op
: : : Sk £3°96 S/'8
RS 95 c5°96 095~ L[5t A 6596 crs-
P SRTS 9B 78 96 096 CO/6 WL 0L—
SR R 8296 B9 11— C38 96 1T — 6396 S8 0l—
SR o 06 96 89 11— S8 96 11— 1696 S8 01—
SR S 06 96 9L 11— G896 6 L1— 1696 6 01—
AR A /896 9L 11— ¢8 96 6 Ll— 8896 6 01—
SR DR 9896 90 C1— 13796 69 11— /3796 CZll—
e TeTTE e = VY16 |GLL6 |BY Cl— 1L/6 116 |SLcL— 80,6 |80/6 [9C LI—
76 locel— LL/6 |6y CL— C1'/6 |SL'SL— LL'/6 |9GCL—
O O O
S o ¢ o ¢ o ¢
< c 0 o 1o S Te 5
O O (@)} = (@))] = (@) =
c| ¥ o 5 o S & 5 o
3 & 2 ° o K ° o K ° o R
|2 = o N = 3 N = 3 N IS 3
o ™ 1% . 2 o = L a o - L a o - L
(@] O] — [ - [ [ - - - - -
- - - O ) > O ) > O ) >
O o 3 L N ) 2 hal n (N hal 2
Q» N N N @ O N © O N © O
m % % o — O o~ — O e — O
: : 9¢ 96 [9¢ ¢ : : |
/ ﬁﬁ 96 mm.mﬁ \\ C996 16996 197 71 \ vy 96 |C8 (I \ 0596 |G ¢l
/96 188l / G/ 96 126 L1 / SRR S
[0°/6 Coll | : . |
/96 |I/96 [$87C! S0°/6 S 9496 8911 8/°96 |8/°96 |G LL
[I'/6 2zl : : €0 /6 9¢ Il | 00°/6 0C 11
: : /6 cell ) . )
. c1/6 6711 : : v0 26 90 11 S 10°/6 0601
be : : /6 GZ Il T 0T a : g
Ol 91/6 4y’ 60 /6 Sl » , N 70 /6 0601
il 91 /6 8L LU L0 EIReL | |
| Sl S v0' /6 2801
| Y16 ¥811 : :
| 5c9E 75T A 206 2801
AN
o /696 1879 N v6 96 999
o V : : : G696 1879 | 26 96 S9°g
10/6 80/
ww,mm mwm 5608 507/ /%96 /09 | 0G 96 |G1'9
| 9C°96 059 ¥% 96 |80°9 11'96 [08°G | 196 |¥6G
AR AR o 096 19/ ¢ __[86°C6 [2¥ S ve| N 96°S6 616G
N ) . ) ) S6 96 63 ¢ ol ) S6G6 |S6 ¢
O , 7096 19¢°G 66 96 Gl V V . = ! v q
/a4 : . » , /6G6 [£Q°¢ ¥6 96 0096 £/ ¢
90°/6 |$0°96 ¥/ ¥ 026 0¥ . , ) :
e 5e 1e0°96 lee 96C6 l0g<c G896 [66G6 |[V/. ¢ 22796 |[¥0°96 [8G¢C
2096 [Cl¥
9296 |01¢ = £C96 |82°C mm /C°96 60°¢C -9 0v' 96 |l0¢ _ 9
S ~ X o .2
<% v 0 ) . =0 /G96 |16 0 0
S S — 20 6596 [/9°0 > 5 % S
N - ; ; N k . . ~
N Mg . G/ 96 |G9°96 [000 N
35 [7°96 |59°96 [00°0 o4 9096|5986 1000 | 45 55
9996 [/¥ 0 5 s A S
02°96 |0/°96 [000 = < = =
= 3 S >
/996 (9696 [9/°¢— : , —
5996 6696 76 ¢ — 6/ 96 5l o mw.wm 5696 wmm\
[/ 96 [6°C— 6/96 (/6396 [16¢— : : T
» e : -z 696 |96 96 [6/°¢
6696 [I0¥ [/ 96 6¢ 706 5 C=
¥6°96 |[¥8C— LL 96 66 96 160 ¥ — 10°/6 /LS ¥~
9996 8696 [¢S¥— SL96 OLv— LO°[6 |C6'9— c0/6 |87 —
8/ 96 SGy— 9396 /38—
S/ 96 18696 [/9v— 90/6 [lc /- 88 96 /38— 80 /6 |09 9—
9/°96 89— ¥38°06 98— C6 96 96 01— 8596 106
9896 £9'8— G696 96 01— 0696 106~
06 96 1/ 01— S6 96 YO 11— ¥6 96 60 11—
2696 2L Ql— ¢6 96 YO 11— 96 96 60 Ll —
g . 2696 08 01— 06 96 el 96 96 LU=
5026 05 L- 6596 0201 C696 U1~
£3 96 \L L~ 8396 0L 1i— 16796 [V TI—
mmmm W@w V26 L6 (9971
%mm mmwm\ 0lL/6 [0L/6 [gvll— ANV A
88 96 06 6—
9896 0C 0l—
[0°[6 |L0°/6 [¢S0l—
80°/6 |25 LL— L6 |SrCL— ZL'/6 199°CL— CL'/6 |8L°CL—
= o2 o 2 o2
O O <t O ~ O ~ O
[@)) = (@)} = (@] = (&) =
| S > |l 8 > | S > |l 8 >
S & S & S & ST o
° o @ ° o 2 ° o @ ° o @
NoA = 2 Noa = 2 Noa = 2 Noa = 2
o o & d e ° & e o & d e “ &
- - - - C - - -
S| 2| 3 2] 2| 3 2| 2 | 3 5| 2| 3
N D) © N D © N D) O N ) ©
s — O o — O o — O e — O




